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Teacher’s Introduction

This resource has been produced to support teaching and learning of Edexcel
Business {1B50/01 specification) Theme 1: Investigating small business. It is
made up of a variety of end-of-tapic test time-restricted guestions, with
suggested answers and a marking scheme. Each fopic test will cover the same
level of skills and depth of knowledge as the most difficult and longest
questions in an actual GCSE examination. This resource also provides a
suggested answer structure and examination tips, and highlights common
errars made by students.

Always check the exam hoard
website for new information,
including changes to the
specification and sample
assessment material.

Each test will:
¢  Reduce your workioad as a teacher with on-hand topic tesis and answers accompanied by suggested
answer outlines

e Allow you as a teacher to diagnose students’ knowledge, strengths and weaknesses after a specification topic
has been taught
e  Help students develop good examination technigue as it uses exam-style command words that will be used

in the actual examination
e  Encourage students to develop structured answers to meet the assessment objectives examined as it
ailocates marks appropriate to the assessment chjective
Indicate how and why marks are awarded at each level of the higher-level questions
&  Raise students’ awareness of the examination’s ‘limited time’ aspect

&

This resource can be used as:

e Avery useful student revision guide as all topics in the specification are addressed

e Aformal class test of 40-60 minutes duration

® A homework for students

& An examination revision guide for students

A basis for an interactive teacher—student class review of a specification topic and how to approach
answering an examination guestion on it in a structured way

-3

The Exam Question Guidance section focuses on eight specific areas:
Assessment chjective — what it means

Assessment objective — level of skill demanded

Command word — meaning / AC leve! / total mark awarded
Command word — suggested outline for a structured answer response
How each examination topic test guestion is structured

Attainment levels for higher-level skill questions {Section B)

Structure for answers — with feedback sheet

‘Levels’ table for marking Section B questions in a topic test

&
@
@
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L]
&

]
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Exam Question ﬁuidame%

Assessment objectives

An assessment objective {AQ) is a target that the examiner expects the candidate
the content and quality of their answer: Z

AQLa
imply k th rrect i it
Knowledge Simply know the a rect answer ina multip
AQLb Show yo ; edge in the understanding of a sp
Understandi : evant business concapts into your answer, sa

_ e business case study context in your answer; that is,
‘case study stimulus material or the guestion being asked.

Cansider both possible outcomes of a point you make; that
benefits/drawbacks, advantages/disadvantages, etc,, emph
Come 1o a justified conclusion/judgement based on your an
circumstances on which it depends and what is most import

AQ33 Analyse

A04b Evaluate

The increasing skill level required to satisfy each assessment objective:

AOL AG2
a. Knowledge b. Understanding a. Apply

Low level skill

The command word indicates the assessment obj; wmat s being examii

ADL

Which one... (1 mark}
Which tw ;
Give one.

entify... {1 mark)

State one... {1 mark)
Calculate... {2 marks)
Qutline one... {2 marks}
Complete two... {2 marks)

AQ1 level command word — suggested outline for a structured answer response

5

identify... {1 mark)

State ane.. {1 mark)

0 WOrds, ar a short sente

Calculate... {2 marks)
Qutline one... 2 m
Complete

rrectly caiculate and identify the any
Two linked sentences will suffice,

Correctly fill in all missing data requis

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1
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Which one... {2 mark} ACla {1} | Multiple-choice guestion. Simply s

Which tweo... {2 marks) ACla {2} | Multiple-choice guestion. Simply s

Give one... {1 mark) AC1a {1} | One word, or a very short, direct se

- . , AQ1a {1} ‘ o

Explain one... {3 marks) AO1b (2) Three sentences shouid suffice. COPYRIGHT
PROTECTED




AD3 level command word — suggested outline for a structured answer response

8 Make at least two points. Each

. AGib (3 .
Discuss... {6 marks) AO3a 53; developed pro/fcon aspect to it |
or justification is necessary. :
Analyse... {6 marks) AD2a (3) ) Zie:ifl:oat EiaSt thnp;);nz‘ffoci
y€.. ° AO3a (3) ) pe :

Necessary.
One option need be consid
At least two well-developed op
be given.

e A justified final recommendatio
e Make at least two points. Each

pro/con aspect 1o it
e Awell-developed and fully justi

lustify... [choose one
aption] {9 marks)

Evaluate... {12 marks)

e  You should say what you think |

Note 1. With AO3 level questions always reference the case study at feast fou

Mote 2. With AO3 level questions be very careful and make sure you read the
sure thot you structure your answer correctly so as to answer the gu

How each examination topic test guestion is structured

Section A
¢  Multiple-choice gueastions requiring an answer to th
#  Short-answer guestions requiring an answer t

‘Calcutate’, ‘Discuss’ and ‘Explain’

oramand word “Wh
Swords such as ‘Gi

Section B
@ Case s

e Long-& ns requiring an answer to command words such as ‘Diss

Attainment levels for higher-level skill questions {Section B}

Note: in order to get top marks in a higher-level skill question you must include
onalysis in o logical reasoning chain {AO3a) and at least FOUR application refer
your answer. These connectives can he demonstrated by using ¢ word/phrase s
fead to’, ‘therefore’, ‘in addition to” or ‘moreover’, and ‘consequently’ or ‘as g re

A justify or evaluote question always requires a justified final conclusion, e.g. ’myé
consequence this will’, ‘however, this depends on’ or ‘whaot is really impartant is’;

i suggest underlining each connective word/phrase in vo

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 3 of 105

COPYRIGHT
PROTECTED




important note on suggested answers :
Please note that there may be correct answers other than those provided. Conseg
teacher/examiner to decide whether any alternative answers given are worthy o

COPYRIGHT
PROTECTED
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Answer structure

Command word

Answer structure

Which one...
{1 mark}

ACla Demonstrate knowledge. '
Multiple-choice guestion. Simply select the correct optio

Give one... {1 mark]

AC1a Demonstrate knowledge

One word, or a very short

identify... ACZa Show g
{1 mark] e context, what the question asks. Ind
itten answer of, say, one sentence. E
State one 2o Show an application of knowledge and understand
{1 mark} Correctly state what the question asks with one or two w
short sentence. :
Which twao... AOla Demonstrate knowledge.
{2 marks) Multiple-choice gquestion. Simply select the two correct ¢
Calculate... AQ2a Show an application of knowledge and understand
{2 marks) Correctly calculate the answer and show all your working
final answer, :
Qutline one... AQ2a Show an application of knowledge and understondy
{2 marks) Make one appropriate point and then show contextual d

by making gne additional correct relevant paint, directly 3
sentences in all ;

Points made format:
&  Make one correct re .
& Make ano t: hecause / for example /

Arterefore.

Complete two
{2 marks}

pplication of knowledge and understond,
ctly fill in ail missing data/words/phrases/figures re

Explain o
{3 marks}

ACla Demonstrate knowledge by clearly making one poi
AQO1b Show understanding by developing at least two lin

One appropriate point with two developed interconnect
exampie/outcome and conseguence. Three sentences sh

Points made format:
{Correct appropriate point — for exarmple / this will / therefo
consequently}

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1

Page 5 of 105
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Command word Answer structure
Discuss... {6 marks) | AOLb Show understanding by developing at least two p
AC3a Fully analyse each point made for up to 3 marks.

Discuss the impact would allow for at least two develop
giving a pro {positive} and con {negative} aspect. Discus
advantages, would aliow only pro (positive) points to b
supported by a finked putco ;

You must have a
direct raf

cally linked strands in yo
te case study {ideally giving contex
5. No conclusion, final judgement or jus
/phrases must be used.

Each peint should follow the following format: say why
outcome will be and the possible consequence of that o

Points made format:

Discuss the impact:

¢  Make a positive point. One impact might be... for e
o Discuss a positive outcome. gs a result / this w
o Discuss a positive consequence. conseguently,

e Make a negative point. However, another impact ¢
o Discuss a negative outcome. as g result / this
o Discuss a negative consequence. conseguentty,

[Repeat this formaot for ofl points you make.]

thi advantages:

might be... for exom
sitive outcome of that advantage.
ause of this
Discuss a positive consequence of that advant

Discuss a specific requirer;
¢ Make a poi

Make another point. Another advontage might be.
o Discuss a positive outcome of that advantage.

because of this
o Discuss a positive consequence of that advant

[Repeat this format for all the advantages you give.]

COPYRIGHT
PROTECTED
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Command word

Answer structure

Analyse...
{6 marks)

AQ2a Show application of knowledge and understanding
to 3 marks.

AQ3a Fully analyse each point made for up to 3 marks.
Make at least two points. Each point needs to have a we
con {negative} aspect to it. Fach pointshauld follow the
are making it, what its likely ¢ will be and the pos
outcome. You must has ve Ebgically linked stra
' : o the case study {ideally givi
_ 1o gain full marks. Connective words
inal judgement or justification is necessary. ¢

Points made format:
&  Make a point. :
o Discuss a positive cutcome of the point. as g ress

of this :

Then

[Repeat this format for oll points you moke.]

o Discuss a positive conseguence of that c;utctomcj;~;§gg

s Discuss a negative consequence of that outcome. hol

bustify... {9 marks}

AC2a Show application of knowledge and understonding

to 3 marks.
AO3a Fully analyse each point using o linked and logically:
up to 3 marks.

up to 3 marks.

Clearly choose from the two given. Therté

AQO3b Give a specific justified judgement based on the e*v«ci*%a

; i-develnped pro {positive) and §
ow the following format: say why you ar
me will be and the possible consequence of that ou
five logically linked strands in your answer, as weil as at |
the case study {ideally giving contextual relevant exampl
final developed justification for your choice is essential,
be used.

Poinis made format

o Give a positive reason. because / for example

e  Clearly make your choice. { think that option [x] is ﬂk\

o Give a positive conseguence. os o result / this v
¢ Give a negative consequence. however/conseq
o Give a second positive reason. because / for ex
o Give a second positive consequence. gs o resu!
o Give a second negative ¢y A

and
#e'the choice.

: “hosen option] to be the right ch
se... and therefore...

and consequence.]
o However, all this depends on...

uence. howevers:

tLink your positive points together and mayhe give c:

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1

Page 7 of 105
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Command word Answer structure
Evaluate... AQ1b Show understanding by developing at least two po
{12 marks} AC2a Show an application of knowledge and understands
up to 3 marks.
AO3a Fully analyse each point using o linked and logically:
up to 3 marks.
AO3b Maoke o specific justified £
points for up to 3 markg

ints. Each point must have a well-de
5 ect to it. Fach point should follow the folio
Ring it, what its likely outcome will be and the possibl
You must have at least five logically linked strands in you
direct references to the case study {ideally giving contexts
to gain full marks. A justified structured conclusion must§
words/phrases must be used. f

Mak

Points made format:

e Make an appropriate point. :
o Give a positive aspect to it. for example / beca A
o Give a positive consequence of it. conseguently
o Give a negative aspect to it. for example / becg
o Give g negative consequence of it. consequent!
{Muake at feast one other appropriate point and rep

¢ Then make a justified final conclusion: :
o inconclusion | woul At {rmake your point
o Becguse {gi Yfeasons [referencing

m——

ents). :
this depends on {give contextual reasmis::
hat really matters is {what you believe is best:
study [give reason]).

COPYRIGHT
PROTECTED
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Feadback sheet

Guestion: AODL ADZ AG3

Marks aliocated

Your mark awarded

Answer ref,
{line/paragraph/page}

COPYRIGHT
PROTECTED
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Level marking

This ‘levels table’” must be referenced when marking Section B questions in a tog

Discuss and analyse {6 marks)
Mote 1: ‘Discuss the impact’ would allow for at least two developed pro and ¢
‘Discuss {specific requirement, e.g. advantages)
MNote 2: ‘Analyse’ requires at least two relevant ;
for each point given).
Mote 3: RNeither ‘Discuss’ nor ‘A

Level f

Level 3

a final conclusion/judgemaent

Guidance

There are at least two well-developed points made.

There are at least four application references (A02

linked strands {AO3a).

*  Anexcellent knowledge and understanding of busi
demonstrated throughout.

s There is an excellent use of correct business termi

®  There is an excellent linked and logically flowing an

& The question is fully addressed and the answer isv

Leve} 2 3—4 ®  There are at least two points made,

& A good knowledge and understanding of business
demonstrated throughout.

e There is some use of correct and appropriate busin

& Thereis reasonably good linked and logically flowi

&  The guestionis mostly addres nd the answer i

Level 1 12 e Onlyone pomt made g,

& Alimited kn

Ry

iderstanding of busines
Ughout, 5
ery little use of correct and appropriate ba,é
here is very limited connecting flow between issu A
The question is vary poorly addressed and the ans
No answer is given.

Nothing in the answer deserves a positive mark.

T @

Level O

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 10 of 105
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Justify {9 marks}

{One from twao given options) 5
»  Either: Choose one option and develop it with one pro and one con aspect.
e Or: Develop one pro and one con aspect for both options.

Then consider:

Level Mark uidance
Level 3 79 &  There are at/

fink

piication references (AD23

#nt knowledge and understanding of busin
onstrated throughout.
There is excellent use of correct business terminoloé}«;
There is an excellent linked and logically flowing anzé
¢ Anexcellent and fully justified final judgement is cle
s The question is fully addressed and the answer is ve
Level 2 4-6 ¢  There are at least two points mads.
» A good knowledge and understanding of business ca
demonstrated throughout.
s There is reasonable use of correct business terminoi;
s  There is a good linked and logically fiowing analysis
& Afinal judgement is made but weakly supported.
& The question is well addressed and the answer is re '
Level 1 1-3 ¢ Only one point made.
& Alimited knowledge and understanding of business
is demonstrated.
& Thereisinfrequent u
& Therels a fais

usiness terminol

‘ed and logically flowing an

simplistic and unsupported attempt

n is poorly addrassed and the answer is
: swer is giver.

Nothing in the answer deserves a positive mark.

Level O

COPYRIGHT
PROTECTED
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Evaluate {12 marks}

Level Mark Guidance
Level 3 9-12 &  There are at least two points made.
¢ There are at least four application references {AD2
linked strands {AO3a}.
#  Anexcellent knowledge a standing of busi
demonstrated t
& Thereis exc orrect business terminol
& Thant wiellent linked and logicatly flowing ang
& and negative implications. E
An excellent and fully justified final judgement is cl
factors on which it depends.
®  The question s fully addressed and the answer isv
Level 2 58 2  There are at ieast two points made.
*  Agood knowledge and understanding of business ¢
demonstrated throughout.
s There is reasonable use of correct business termin
®  There is a good linked and logically flowing analysi
and negative implications.
»  Agood final judgement is made but weakly sugpor
®  The guestion is well addressed and the answer isr
Level 1 1-3 #  Only one point made.
+  Alimited knowledge and understanding of busines
demonstrated.
s There is infrequent use of ¢ Y business termino
e Thereis a weak attersd +anked and logically flg
i rasion to only positive or nega
® r-simplistic and unsupported att
: xstion is poorly addressed and the answer is
Levei O : nswer is given.
Nothing in the answer deserves a positive mark.

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 12 of 105
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Section A

Which one of the following is most true about UK business activity? Select 4:»
L1 a  itisinterdependent in nature
1B itisindependentin nature

1 ¢ itistotally rellant on ecomm
3D itistotally reliant on gl

in a cashless society

Which o . the main force behind the UK’s dynamic busiig
Selec 5
1A :

B Envy

[1¢C Change

(1D Greed

Which one of the following is true about the origin of new business ideas? S%
[ A Theycan never come from the adaptation of existing products :
I B Theyonly originate from educationally intellectual people
1€ Theyonly come from existing products

1 B Theycan come from anywhere

Which two of the following cannot be considered business risks? Select twg
(1 A Lossof reputation 5
I8 Making a profit

1€ Financiai loss

1D Possibility of cyberattac
[1E  lack of governmeng

Which -w?ng can be considered as rewards for starting a busaé

Select

[ A ependence
1B Stress

3¢ Goalachievement
B Risk

L1 E  Financial loss

Which two of the following are reasons why businesses exist in the UK? Sele:
1A Tofinance political parties :
I B Toensure ail citizens have jobs

3 € Tocreate UK millionaires

1D Toproduce goods and services

[1E  Tomeet customers needs and wants

Explain one disadvantage to a smali bus g value’ to its produc

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 13 of 105
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8. Explain one role of an entrepreneur.

9. Explain ogmmre. a gerson might want to become an entreprenaur,

10. Qutline one method a small local business might use to ‘add valus" to its p

11. Qutline the differenc term ‘entrepreneur’ and the term ’enteg

12. Discuss the disadvantages of becoming an entreprensur.

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 14 of 105
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Section B

13. Evaluate the possible risks and rewards for Ellen and Sean as they embrac
entrepreneurship. You should use the information provided as well as your 3

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 15 of 105
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Section 4

1. Which one of the following is most true about UK business activity? Select
& ltisinterdependent in nature :
B Itisindependent in nature
C Itis totally reliant on ecommerce
D Itis totally reliant on deve!n:

“cashless society

the main force behind the UK's dynamic busing

€ Change
D Greed

3. Which one of the following is true about the origin of new business ideas? S
& They can nevar come from the adaptation of existing products
B They only originate from educationally inteliectual people
€ They only come from existing products
D They can come from anywhere

4. Which two of the following cannot be considered business risks? Select twc%
A Loss of reputation 2 Possibility of cybera
B Making a profit £ Lack of government
€ Financial loss ‘

5. Which two of the following can be consider
Select two answers.
A Independence
B Stress

dsfor starting a busﬂ

D Risk
E Financial ioss

6.  Which v the following are reasons why businesses exist in the UK? Sel
& To finance political parties L Toproduce goods a
B Toensure all citizens have jobs £ To mest customers’

€ To create UK millionaires

7.  Explain one disadvantage to a small business of ‘adding value’ to its producty
8. Explain one role of an entreprensaur.
9. Explain one reason why a person might want to become an entrepreneur.

10. Outline ong method a small local business might use to ‘add value’ to its pres}‘

11. Qutline the difference between the term ‘en ¢ the term ’enteé

12. Discuss the disadvantages o ntrepreneur.

Topic Tests for GCSE {9-1) Edexcel Business — Theme 1 Page 59 of 105
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Section B

13. Evaluate the possible risks and rewards for Ellen and Sean as they embrac
entrepreneurship. You should use the information provided as well as your 3

COPYRIGHT
PROTECTED
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Preview of Questions Ends Here

This is a limited inspection copy. Sample of questions ends here to avoid students previewing
guestions before they are set. See contents page for details of the rest of the resource.



Answers

Note: Examples of AQ accreditations are highlighted in suggested answers to Test 1 Sec

Section A
A (AQ1a)
C{AQ1a}
D {AD%a)
B and E (A01La)
Aand C (AOlaj
D and 88

S

7. Award ¥ or correctly identifying a disadvantage {AO1a). Then award up to a fi
answer using two interconnected and linked points explaining the outcome and cos
{ADLb)}, ideally using a relevant example (AO1b). Three well-structured and in-conti

Relevant points:

® Cost

& Time

® Non-acceptability by existing and naw customers

8. Award 1 mark for correctly identifying one role of an entrepreneur {AC1a). Then avf
developing the answer using two interconnected and linked points explaining the
{AQ1b), ideally using a relevant example (AO1b). Three well-structured and in-contg

Relevant points:
@ Setting out the business mission

® Setting out the business vision for the future
& Creating and developing a business culture
® ‘Seling’ the business as weil as its pro
® Raising sufficient capital to '
e Taking the risks

ntain the enterprise
Sve a short-term objactive or a long-term al

ly identifying one reason why a person might want to be
urther 2 marks for developing the answer using two interconnecte
possible ome and consequence of that reason {AO1h), ideally using a ralavan
structured and in-context sentences should suffice.

Relevant points: :
e Yo be their own boss % To follow their ‘drea
® Nine-to-five hours do not suit them @ They are natural-bog
® For altruistic reasons

10, Award up to 2 marks for outlining an application of knowledge and understanding
points on how a simall local business might ‘add value’ to its products or services,
aftersales service 1o its customers {AO2). This should build up customer loyalty an CQPYR%@HT
Two well-structured and in-context sentences should suffice. PROTECTED

Relevant points:
® Develop an aftersales service

e  Add new extra features to the prodic
@ Improve product design
& Emphasise a unioe

Develop a customers
Improve product/sed
2 Create a new use fo

11, Award g
relevand arly outlining the difference between an ‘entrepreneur’ and an
person “takes risks to start a business {AQ2), whereas ‘enterprise’ refersto a
entrepreneur (AG2). Two well-structured and in-context sentancas should suffice.

Relevant points:
e Anentrepreneur is a person who takes risks to start a business
® Entarprise refers to a process or undertaking started by an entrapreneur
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12, Award up to 3 marks for dermonstrating understanding of knowledge by developing
an entreprenaur {A01b). Then award up 1o 3 marks for a fully developed analysis of eg

Note:

#  There should be at least five logically linked strands in the answer.
® Mo conclusion, final judgement or justification is necessary.

e At least six well-developed sentences, with connecting words and phrases, shg

Relevant points:
At least two well-developed points. Note thatD
® Financial risks

&  Threat of competiti

s can be discussad.

fwith it 3
axing legal responsibilities 1o emplovees and custor

® Understandir

® : al time — it's a 24/7 job

& A prenaur has to learn ‘on the job’

® Con$eant stress, worry and ultimate responsibility for success or failure

Section B {reference the skills level table on pages 10-12)
13, Award up to 3 marks for demonstrating understanding of knowledge by fully deveidﬁi"
rewards that could apply to Ellen and Sedn on becoming entrapreneurs (AQ1b}.

Award up to 3 marks for appropriately applying knowledge and understanding to
outlined {AQ2).

Award up to 3 marks for fully analysing each risk and reward detailed for Ellen and
fogically flowing chain of reasoning {AD3a).

R

Finally, award up to 3 marks for making a justified final judgement on the suitabilit
Sedn, based on the evaluation of all relevant points {A03b).

Note:
¢ The stimulus material must be referenced.
& There should be at least five logically linked
There should be at least four dir
» A final judgement or justf;
& Atleast six fullv d; '
she AL

the answer. ,
ferences to the stimulus mats
sSolutely necessary.
nees and a justified final conclusion, all with ¢

2

L]

ints. Each point must have a well-developed pro {positive} and con (
tid fully developed final conclusion must be given. :

Risk of business fallure because of: :
® Inexperience — which may result in bad business decision-making, which migh 5
customers, reducad profits, bad purchasing decisions and inadequate cash flog
business start-ups are not successful and only slightly over 50% survive into th
® Mental and physical exhaustion — may result frons the stress and worry of own
dynamic environment — this may cause them ‘toss of face” and dirminish their
future entrepreneurial ambitions.
® Bad planning — badly planned for, or totally unplanned, future events that in &
impact essential cash flow and long-term profits. The consequences of such ey CQPYR%@HT
uncertain future for Ellen and Sedn. PROTECTED
e Lackof cash - in the short term their business is not estahlished, which means%
an thelr pensions and savings — which ars finite - g goes wrong. :

Rewards of business success include:

® Sense of achievemeant that heir ‘entrepreneurial bug’ to expand

® Sense of independe;; v are now their own boss and are free to mg
® ‘Himes financial stability for the two as it becomes a gr§

supplement’.
® an ensured Job security’ for as long as they want it and for as long a

Make a final, fully justified conclusion:

® in conclusion | would say that... {make your point). :
¢ Because.. (give contextual reasons [referencing the case study} based an youré
® However, this depends on... {give contextual reasons [referencing the case stus
What really matters is.. {what you believe is best for the business in the case ¢

L
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Preview of Answers Ends Here

This is a imited inspection copy. Sample of answers ends here to stop students looking up answers to
their assessments. See contents page for details of the rest of the resource.



